Psy 232
Single-Factor Between-Subjects ANOVA

(1) Consider an experiment comparing the effects of three kinds of reinforcement on the performance of children given a series of
simple reasoning problems. The independent variable of reinforcement consists of the following three conditions: praise for
correct responses; criticism for mistakes; and silence regardless of whether the child answered the problem correctly. Five
children are randomly assigned to each of the treatment conditions. The measure of performance is the number of correct

responses given during the course of testing. Calculate the ANOVA and state your conclusion. __(__]
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a) What are the null and altemnative hypotheses?
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b) Calculate the F-ratio. /j
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c) Are the 1e8 cant at alpha = .05?
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He tested three groups of randomly selected students and obtained the following error dta and sums of squares:
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